





M-STEP PRACTICE QUESTIONS

1) Enter the value of n so the expression (-y + 5.3) + (7.2y — 9) is equivalent to 6.2y + n.

2)  This table shows a proportional relationship between x and y.

Find the constant of proportionality {r).

Using the value for r, enter an equation in the form of y = rx.

3) Dave buys a basebaill for $15 plus an 8% tax. Me) buys a football for $20 plus an 8 % tax.

Enter the difference, in dollars, of the amounts Dave and Mel pay, including tax. Round your answer to the nearest cent.

4) This graph shows a proportional relationship between the numbar of hours (h) a business operates and the total cost (¢} of
electricity.
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Select True or False for each statement about the graph.

True lFalse }
Point A represents the total cost of electricity when operating the business for & hours. [::_]

e

The total cost of electricity is $8 when operating the business for 80 hours.

The total cost of electricity is $10 when operating the business for 1 hour. I:::l[:j



5) Determine whether each statement is true for all cases, true for some cases, or not true for any case.
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~ True for all [ True for some|| Not trus for J
cases cases any cases |

\ If two angles are supplementary and congruent, they are right angles. %_E::]

The sum of two adjacent angles is 90°.

The measure of an exterior angle of a triangle is greater than every - |
interior angle of the triangle. | feccl |

6) The entry fee to the fair is $4.00. Each ride requires a ticket that costs $0.50. Heidi spent a total of $12.00.
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How many tickets did Heidi purchase?

7)  shelly incorrectly solves the equation Part A: - | -
1 y ! 1 —
5(c+6)=7.Her work is shown. Epil _ S ?7
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Part A: s+ 8)=7

Select all the steps that show an error Step 1: %c + 6 =7

hased on the equation in the y

previous step. Step 2: 3 c=7+6
Part B: Step 3. --%- c=13

Use the number line to show the correct , - 3, ¢

solution of the given equation. Step 4: c=13+2

Step 5: C = 6-%*

Pa B: Correct Solution
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8) David uses % cup of apple juice for every % cup of cranberry juice to make a fruit drink.

Enter the number of cups of apple juice David uses for 1 cup of cranberry juice.




